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AR —R B’ 4 E (fm) NG HEl | EH | AEEK P
& i H £ H el
4411 |REARBBFIE(ED) 43.3 41 83 1.9
4412 [HARBEHFEECKY) 43.3 25 38 0.9
4413 |F&H @ HEE(ED) 68.4 10 1 17 0.3
4414 (BB HHHEE(CFD) 68.4 14 1 24 0.4
4419 |(HLMH-BFRE(EY) 52.2 17 42 0.8
4420 |Hiem-BEHE(FY) 52.2 12 1 20 0.4
4423 |#H 2 ©Bm ( F v ) 55.3 1 1 0.0
4424 (& 2 B (F v ) 55.3 1 1 0.0
H ) H =3 il ]
5001 |4 Ik B & (kv ) 41.7 11 2 16 0.4
5002 |4 Ik B & (F ) 41.7 9 14 0.3
5301 |HRyERKBBENHFE(LED) 13.9 0.0
5302 |HuEAEEEE(FY) 13.9 1 1 0.1
— i E
0001 el 1 = 63.2 157 1 212 3.4
0023 i 23 =3 122.4 487 7 668 5.5
0025 Gl 25 = 66.8 13 16 0.2
0042 i 42 5 241.7 111 4 158 0.7
0163 el 163 = 56.1 21 1 28 0.5
0164 H 164 B2 3.2 7 9 2.8
0165 el 165 = 54.4 72 1 99 1.8
0166 B 166 =3 67.3 24 3 25 0.4
0167 el 167 g2 53.5 21 27 0.5
0169 B 169 =3 12.0 1 2 0.2
0258 el 258 2 14.1 25 34 2.4
0260 i 260 =3 98.6 30 40 0.4
0306 el 306 g2 66.0 46 1 58 0.9
0309 i 309 =3 15.8 1 1 0.1
0311 el 311 2 80.5 1 2 0.0
0365 i 365 =3 37.1 25 28 0.8
0368 bl 368 = 70.4 29 2 27 0.4
0421 B 421 I 27.4 32 2 38 1.5
0422 i 422 4 144.7 11 12 0.1
0425 B 425 =2 18.9 0 0.0
0477 i 477 4 35.2 39 60 1.7
+ B2 JI23 1
1002 | & #F I BB 22.1 0.0
1003 |% &% K &% & 17.8 13 21 1.2
1004 |& ®H F B B 3.7 0.0
1005 |48 B % @B ®B 14.1 5 7 0.5
1006 |0 H T i & FE 17.5 3o 38 2.2
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1007 [ 4 & i 10.3 10 14 1.4
1008 |0 H ™ & FE B IR B 27.3 42 49 1.8
1009 (W H W B # # 20.0 5 7 0.3
1010 |3 5] i 18.5 12 23 1.2
1011 (W@ H o B K 23.8 1 1 0.0
1012 |+ # [ 3 B 24.5 0.0
1013 | B % % B 12.4 5 7 0.6
1014 [ B ® H & 14.4 8 10 0.7
1015 |&A B %X ¥k B 34.2 14 17 0.5
1016 |/ B & @ B 15.5 1 1 0.1
1017 |® B P W 5B 12.6 2 5 0.4
1018 |% 4 & #H I & 0.2 0.0
1019 |3 A ] 0.1 0.0
1020 [k P & = I # 0.3 0.0
1021 | 2 i (£ #H & —
1022 | B B B B 34.9 15 17 0.5
1023 |4 F % E 1.6 5 8 5.0
1024 |k B A BB 15.9 14 17 1.1
1025 | & b B 9.5 2 3 0.3
1026 (WM A W % JE # 21.4 12 13 0.6
1027 |# ©H E R B 10.0 16 20 2.1
1028 |8 1 @© L B 40.2 10 11 0.3
1029 (& B #H 11 #H 58.1 1 1 0.0
1030 | 8 £ kK & 28.4 1 1 0.0
1031 |k & = JII & 11.0 0.0
1032 | Z & W HB 17.1 20 46 2.7
1033 |/ B &£ = &K 14.8 0.0
1034 |t &, R 15.7 0.0
1035 |% %= I W # 27.5 3 3 0.1
1037 | & ¥ & B 43.8 50 55 1.3
1038 | # K = B 39.2 2 2 0.1
1039 |#% W1 %2 k& B 19.1 0.0
1040 |[s&8 % X / JII # 19.3 0.0
1041 |8 1 & E B 11.2 14 16 1.4
1042 | @ & B K b H & 29.8 18 24 0.8
1043 |— & £ kB & 24.7 0.0
1044 |%& 3 5 16.4 6 7 0.4
1045 | & » B & K & 12.2 1 0.1
1046 |/ & K &= K & & 24.2 0.0
1047 |5 P # #H K% 23.7 0.0
1049 |H ® f oL B B 10.7 2 2 0.2
1050 |+ & [z % & 17.3 0.0
1051 |#E % T 1.4 0.0
1052 (# & d6 b 23.5 0.0
1054 & B B R B 22.1 30 40 1.8
1055 |&A & W #E & 17.7 14 15 0.8
1056 |k % X 1 B # 12.5 8 10 0.8
1057 |k % £ 3 12.4 8 10 0.8
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1058 |l B — £ B 11.5 3 3 0.3
1059 (& Bk % 2 B WK # 25.2 7 10 0.4
1060 [+ B & B #H 25.0 9 14 0.6
1061 [ % X E OB 18.3 5 8 0.4
1062 |# & & Ffn 14.6 0.0
1063 (&2 JII W\ B pFr # 4.6 9 10 2.4
1064 |k W % & # & 8.8 17 18 2.0
1065 | 2 £ K & 7.8 1 1 0.1
1066 |/ H i #© H # 6.3 3 3 0.5
1067 |— & &= B # 4.8 3 3 0.6
1068 |4 2 4 > X% — 6.6 1 1 0.3
1069 | EZTHAZ— 2.2 1 1 0.5
1070 | m # o I B 8.0 0.0
1080 | & B 4% G B 7.8 1 1 0.1
1081 |4 % ® W B 12.2 0.0
1082 |k ¥ mM b 4 M 1.6 0.0
— i [} E
2102 | B = R 6.2 8 6 1.3
2103 MW H W & K #H 7.9 8 13 1.6
2106 | % W ®# & 6.8 0.0
2108 | K& IR E 2 H5 #% 8.4 0.0
2109 | & = # 7 &K 0.1 0.0
2114 | EE@|m A REKNE®R 12.5 33 36 3.0
2115 |& B = R 20.6 5 9 0.4
2118 | I - i 8.5 4 4 0.5
2128 | M pr 24.2 0.0
2132 [HW F 1 1.8 0.0
2133 |@# ®B W /@ & 10.1 2 3 0.3
2138 |18 % E % 12.0 10 21 1.7
2140 |U H WK ¥ K %2R 25.5 28 31 1.2
2141 |# B g % K 26.5 1 1 0.0
2142 | % #H B B 12.3 20 31 2.5
2143 & & )| # B 4.6 1 1 0.2
2144 |& HE ] 5 9.6 1 1 0.1
2146 [ & K b W & 6.5 0.0
2147 | k= ¥ K 12.3 6 7 0.6
2148 | & B b ¥ f& 2.6 0.0
2149 | & ¥ T B ft & 2.0 1 1 0.5
2150 |®/ # B S 4.0 0.0
2154 |#& B H 5w K & 4.2 0.0
2168 |[VHEBAY ¥ —# 2.5 0.0
2169 | £ ¥ M B & 17.8 2 3 0.2
2201 |81 HEGSTERELR 4.9 19 21 4.3
2202 |4 F ¥ E = E SR 14.9 0.0
2203 |RE# R E = H 5 K 1.0 1 1 1.0
2302 %m%ﬁ&%aﬁm’f& 11.3 1 1 0.1
2401 (% 4% W B H & 12.9 7 7 0.5
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2407 | = @ W B W # 17.4 5 6 0.3
2410 |[® 4 # W # ® 11.8 4 5 0.4
2413 |1#& 52 A B 5.4 3 0.6
2428 |t B N (RO KB 12.0 10 10 0.8
2502 | W JH  m & 3.0 0.0
2503 |[— & H % #® 2.6 4 4 1.5
2504 | 4, e i 3.0 1 1 0.3
2505 | B T ¥ A& R R 0.9 0.0
2506 |& i e i 4.2 0.0
2507 |+ & W B & 2.8 2 3 1.1
2508 | He i 1.2 2 2 1.7
2509 | 3 HE B 4.0 4 5 1.2
2511 | Jp # ) 2 & 6.4 7 7 1.1
2512 |H W & B & F #i 22.3 0.0
2514 |% x B o 7.2 1 1 0.1
2515 | ) e i 2.2 0.0
2516 |E = e 5 1.3 0.0
2529 |2 & & #H 5 g ¥ % 4.5 0.0
2530 | H M E HE g R 7.5 0.0
2553 | FBFREEIGA T TR 3.4 0.0
2555 |k R #H (= #=H OB 1.0 0.0
2560 |8 B A E R & 4.6 1 1 0.2
2561 | i = 5 1.6 1 1 0.6
2563 |F4 A (L i 2.2 0.0
2565 |®& b W BFH 4.3 5 4 1.2
2566 | LB E B BT 2.1 0.0
2567 |F H W 5 6.8 0.0
2575 | R M AEE B 2.9 0.0
2580 @ b N oE OB 18.4 1 1 0.1
2602 [® % b 2 i 4.4 0.0
2607 |m & am 4.7 0.0
2609 | EBFR PSSR 9.0 2 2 0.2
2611 | K ® 2% E & 8.4 1 1 0.1
2612 | F #H B & 3.8 0.0
2613 | B W @ ® 3.9 9 9 2.6
2614 [ >~ F B H # 7.3 0.0
2616 W Y M A & B 12.2 2 2 0.2
2620 ¥ #H K F K 6.6 1 1 0.2
2621 |k H# % ~ = # 5 &% 3.9 1 1 0.3
2622 |/~ ¥ /N K B 8.6 4 4 0.5
2623 | H O B # 5.3 3 7 1.3
2624 |+ E R K 4.9 1 1 0.2
2625 |k W % & 4 6.3 2 2 0.3
2626 |+ #® X H ® 5.8 2 2 0.3
2629 |= #H H Kk & 2.1 0.0
2630 [JII B H % & 6.6 4 5 0.8
2632 |k W K B Rk & # 11.4 0.0
2634 |/ W FE M B 3.9 0.0
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2635 |/ i T H B/ B 4.0 2 2 0.5
2637 |03k B AR B R 8.8 6 9 1.0
2638 |5 E KN & B & 6.9 1 1 0.1
2639 (4 # E B F & 2.5 2 2 0.8
2642 |E W B 1 1= =1 8 & 8.9 1 1 0.1
2643 | = A1 FE ¥ #H 10.0 13 16 1.6
2645 | B & E B 10.5 11 16 1.5
2647 B K W OB B 4.2 1 1 0.2
2648 & B = oBE & 10.6 1 1 0.1
2649 & b B & 17.0 4 4 0.2
2650 |=Z =% — & W& #HLG KR 11.6 2 4 0.3
2651 = 41 k% # 3.7 3 7 1.9
2652 |EEY P KGR 2.1 1 1 0.5
2653 |[®& A& m B B 3.9 0.0
2657 |ZF pr b 78 1F B 5 R 10.6 2 4 0.4
2658 |/ m H A A B B 4.4 3 3 0.7
2659 | £ fg #E BN OB O 5.1 1 0.2
2660 | A& £ H 5.7 0.0
2661 |~ &KX kK — &£ & 4.6 0.0
2662 [ K = & H ¥ K 7.3 0.0
2663 | = K K 1 K H 1.0 0.0
2664 [#H W #\ W ® 4.4 1 1 0.2
2668 (B K b B B 11.6 0.0
2679 |l w & O B & 2.9 1 1 0.3
2683 M I #H W B 7.5 0.0
2688 [ W H b H & 3.3 0.0
2691 |4 #E #F b B 13.7 1 1 0.1
2692 | 2R EEE HE R 5.9 0.0
2693 | B & £ B 22.1 0.0
2695 B s w 11.4 0.0
2697 | = £ A\ B 6.0 0.0
2698 | = = i 5.6 0.0
2700 /N B B ER I M & 12.5 0.0
2701 [ gk A& R OB R K 11.4 3 3 0.4
2705 | K& H B 0 KR 12.7 1 1 0.1
2707 |FM B OJE O I B 5.9 2 2 0.3
2709 | B W K B M 5.5 0.0
2710 |fRE§ = WA A E H %R 15.8 0.0
2713 || K @ N BB 4.0 0.0
2714 |4 & B B = &= 8 & 3.7 0.0
2716 |E JII I R 4.8 2 5 1.1
2740 [/ W O£ B 25.1 2 2 0.1
2748 |k & & B {2 H B H 7.9 10 12 1.5
2750 B OB OB PN OB 34.0 5 9 0.3
2752 | KRBT O LG RR 10.5 0.0
2753 | B K B OH O 5.8 2 2 0.3
2754 |@EE HFH B W B 3.9 4 5 1.3
2756 |k Bk BROOR B 14.4 17 17 1.3
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2776 |/ J& 4= B OB g B 4.4 6 0 9 2.0

2778 | M W U RO 17.5 2 0 2 0.1

2000 | o fh B & 36 47
il il 1

3100 AP LB LRED) 1 2

3110 [ K — & L % #®

3150 |)v XK K K #

3200 |UATRHYHR(HFIED) 7 8

3210 |78 HAfRHBRM@I@EY) 17 19

3220 [AEARKMEIL@EY) 3 3

3230 | FH/)NEFHEEENED) 25 34

3240 | HAKJUEER(F)IE@ED) 10 14

3250 |&%H EMR(=ZME@EY) 5 5

3300 |BR @y fn H o %

3350 | & B B » W MR 20 36

3410 |# f# & M M K 19 27

3420 |A &/ O A # KR

3430 | (b fF 4 S H K

3440 |H BR ] o

3500 |& A H H &

3510 [# B BR kx Pk ¥ #%

3520 | K B B B B B

3650 (B Ff1 @ v

3700 | B B OHE ¥ &

3800 |4 M ZN B

3850 |2 ANHTHEE /T H k%

3860 | /UM% G F B AE %

3870 |5 A A B

3880 [ & AW W+ Ju

3900 ¥ B ® H ® &

3950 [% 4 B # &

3000 |+ o fh H HE & 1,157 25 1,383
BB OE % B oo B K

6000 [FBBEAIAT A 3 4
z o M oo E OB %

7000 |2 ( % ) 1 6 11

8000 |# T

8500 | ¥ 5 1 1 2

8600 |[P5E (¥ B2 BhiE)

9000 | el 3 3

9500 |* ) fth 1 22 1 29

9900 |ZDfhdir (JEH%) 210 2 241




